


Choose 16 of the below and put into a
4 X 4 grid

— coth(x) %(x3 +2x%)? —cos(x) + %cos3(x) arctan(x)
tan(x) — x sin;xz) — cosech(x) —sech(x)

%exz %cosh(élx +3) Zlnlx4 + 10| Infx + 2| —In|x + 3]
%sin‘*(x) AW 2—10(4x2 +3)° 41n|x + 2| + 21In|x + 3|

1
—-Z-lnlcos(Zx)I

x — arctan(x)

%(x — sin(x) cos(x))

2In(x? + 3x + 4)

41In|x| + 2In|x + 1| + In|x + 3|

\2 3
o X2 4x lln lx W 1 W i — cosech(x)
8 Ix+4 3] N7
x
v 1 — x2 4+ xarcsin(x) tanh(x) garctan (g) arsinh (5)
2x

%(%—x) VxV1+ x — arsinh(y/x) 5v1 4+ x? %lnlxz + 9|
3 1 X X
~ sinh? . x — tanh(x 2 x2 X )
" sinh’ (2x) 3tan(3x) () S VX + 4 — 2arcosh (2)
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